3CASBEEkyoto—-NC_2018 A7

CASBEE—E%I! Eﬁ(%ﬁﬁ)zm 84E I WAl v =1 CASBEE-S#i- 2 55(¥7 52)20184F
[ |memmsrmasorERA miHEYI,: CASBEERE-#HE2018 (v.1.0)

g5 | ExREAICH B2t AED | ERE-FEEHD
EXIER lﬁé Egglﬁ# IR E R S 5 OBE AN ) - ! 52 244
= a!LO)EE iR | o a*ﬁm; s
Q1 EANBRE
1 SRE 3.0
1.1 ERESLAL 3.0 0.40
1.2 BE 3.0 0.40
1 |FAODERES R 3.0 1.00
2 |REHEEFMRE -
3 |[REKESFMHEGEEHEER)
4 |REREZMHE(EEHER) -
1.3 & 3.0 0.20
2 RERE 3.0 0.35 3.0
2.1 ERHIE 3.0 0.50
1 |=R 3.0 0.46
2 |9 ERMEEE 3.0 0.19
3 |V R 3.0 0.35
2.2 Rl 3.0 0.20
2.3 ZHRARK 3.0 0.30
3 S-S 3.0 | 025 3.0
3.1 BXFA 3.0 0.47
1 |BE LU NG ) . _
2 |ARRIEEO .
3 |BrFAEE eou# [BatEnE) 3.0 1.00
32 JL7xE -
[ 1 [Bxsim eu# |surzns)
3.3 BE - -
3.4 FRBAIHE 3.0 0.53
4 ZREME 3.5 0.25 3.5
4.1 RERREK 4.0 0.50
[ 1 [eEwE LEMITFA A A XEFA 4.0 1.00
42 B 3.0 0.30
1 |BRE 3.0 0.50
2 |BARBRIERE LU NG ) - _
3 [MYANSAR~NDEE 3.0 0.50
43 ERER 3.0 0.20
1 |CO,MER 3.0 0.50
2 |RRYE ) i) 3.0 0.50
Q2 Y—EXMEE - 0.30 3.2
1 BERETE 3.2 0.40 352
1.1 eksm FLpgE 3.0 0.40
G- ARERTE =
2 = B BB E R iR IS -
3 [\UFTY—EtE [ P3N PIEEEE) 3.0 1.00
1.2 :L,\iE'ri Pt 3.2 0.30
LeR-58H  (RHE) oLt [comama)  |[XFHE=33mLlL 4.0 0.24
2 Iy aAR—R 3.0 0.24
REEETE [ J=F -3 [YC:A=E &) 3.0 0.53
1.3 %’éﬁ‘"ﬂi 3.5 0.30
M EEICRE LA HEEOBNME EFHEERTALE . #iFEEEHMELTLS[ 4.0 0.50
2 HETEAREOREZ 3.0 0.50
2 At EEE 2.8 0.30 2.8
2.1 MR- RE-HlE - flik 3.0 0.50
1 |MEEEYDOCHIIZLE) 3.0 0.80
2 | RE-HIE-HIRTEEE 3.0 0.20
2.2 B - ERM Dt AE 2.9 0.30
1| H O BER oKt |A2EkRER) 3.0 0.20
2 |5 B EIFHOBMERERR 3.0 0.20
3 |FERNELETHOEHLEMR B EZ)LYORAEY=204 . R:E=JLERS —h=204 4.0 0.10
4 |ZEHRBKIILOEHLERER 3.0 0.10
5 |ZH-BHKkEEOEHLERR 3.0 0.20
6 | FEZHEEIFOEHNVERIR 2.0 0.20

1/2



3CASBEEkyoto-NC_2018 A7

2.4 58 2.6 0.20
1 |ZER-BRERE 1.0 0.20
2 |#EHEK-BAEEE 3.0 0.20
3 |EXEE 3.0 0.20
4 |BW-EREXEAE 3.0 0.20

5 [EE-1EHREE 3.0 0.20 =

3 Mt - E 3.6 0.30 = 3.6

3.1 ERopLY 5.0 0.30 =
[[1 RE0owEY BEB=45mBEl £ 50 | 043
[ 2 |=mMomk-BEs kYl [A(2EMER) |ERSHE0.08 5.0 0.57
3.2 REDKYLEY 3.0 0.30
3.3 RlEOFEHME 3.0 0.40
1 |ZERREDEHMN OXt] |A(LEKRER) 3.0 0.20
2 |#RHKEDEHM kYl [A(2EmER) 3.0 0.20
3 |BEREROFHME kYl [A(2EmER) 3.0 0.10
4 |BEEREKROEHFME OXt] |A(LEKRER) 3.0 0.10
5 |SRiE#IFROEHM kYl [A(2EmER) 3.0 0.20

6 I\ ITITAR—ZADHER 3.0 0.20 =

Q3 EHSRE (BUER) - 0.30 = - 2.7
1 EPRIFEQFS LA Orb |A (2EMER) 20 | 030 = 2.0
2 FHuAH - RB~OER o [Smens 30 | 040 - | 30
3 W -FA-TANOERE 3.0 0.30 = 3.0

3.1 M~ DR, BEEOR L oLt |v cmmem 30 | 050
3.2 Bt R RIRE DM £ 0Lt |AeEmER) 3.0 0.50

LR BEEVORBEAREREE

LRl TRJL¥— = 0.40 e 3.5
1 @Y BEOER 2.0 | 0.20 = 2.0
2 BRIXIILX—FIA ou# |A(2EiRER) 3.0 | 010 = 3.0
3 B ATLDEDEL @a# |coaEmA)  [BENBEImI= 073 4.4 0.50 . 44
4 ShENER 3.0 0.20 = 3.0

S8 EELS OFFHE 3.0 1.00 =
[RNE=TPZ) 3.0 0.50

4.2 |ERAEEKS 3.0 0.50

S A EEDFHE N

41 |E=8YY

4.2 |EAEEAS - -

LR2 ER-<TTUT7I = 0.30 - 2.8

1 KEREE 3.4 0.20 = 3.4
1.1 &k KAERE=55L, /IMERR=1~2L 4.0 0.40 -
1.2 FKFIA-#EKEQF A 3.0 0.60
1 MAMALRATLEADER | 08K [AEERER) 3.0 0.70
HHEKEMALATLAEADHE 3.0 0.30 -
2 3Fﬁﬂ-ﬁﬁl§®ﬁﬁﬁii‘=ﬂm 2.6 0.60 = 2.6
2.1 HEER R OHIE oxy | 2D 20 | 010
2.2 FEERAREQHEER 3.0 0.20
2.3 FERMBIZBF DU oL 0ER | exu [5EERD 30 | 020
2.4 BUHMHLIHHEU oL OER | @xe [§ RIS 10 | 020
25 BEEARERAL DESShAN | omm [BHEERE 20 | 010
2.6 B OBFAREEE EA~OREA | 0X8 |AEERER) |LGS+PBODT=&. 7 AIFTEE 4.0 0.20 =
3 ERMESHHEOME AR 3.0 0.20 = 3.0
31 FEVHEEEFLVHEOER 3.0 0.30 =
3.2 7Oy - \A D [EE 3.0 0.70
1 EAEH - -
2 |HaFl (M%) 3.0 0.50
3|5t 3.0 0.50 -

LR3 Bhith 5 IR 35% — 0.30 - - 3.3
1 R EBIE~DER BERT7=39 39 | 033 = 3.9
2 g MEB~OEK 3.0 0.33 = 3.0

2.1 ARBEBHLE 3.0 0.25 =
2.2 BRBEELDRE oLt |AEmER) 3.0 0.50
2.3 mtaz»rﬂv«a)ﬁmmﬁu 3.2 0.25
MKHEK B FHER 3.0 0.25
2 5K AL 28 £ 7o 0 3.0 0.25
3 B EFHE FAED:HI<, BYLEROBEE, BHEEHEIAR—2HY 4.0 0.25
EEYNIE S D 3.0 0.25 =
3 )ﬁmmg«omm 3.0 0.33 = 3.0
3.1 BE-iRE-EROML 3.0 0.40 =
1 |BE 3.0 1.00
2 |iRE) - )
3 |EBER - -
3.2 RE-WE-BEEZEDIH 3.0 0.40
1 |RE D] 3.0 0.70
2 |REQIF -
3 |AEEMEE QM 3.0 0.30
3.3 :timmﬁu 3.0 0.20
BHABARVERNBBEDSIEIRENIAADXE 3.0 0.70
2 BADEBMNBRICEIRFXTLT)~DxE | @&D |BUEERNS) 3.0 0.30
REAH O RAKE O: EsRABAIHICRIER BAREX—T—RAM TR KEISES TEbisbiof> THR:ARMID

2/2



